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1} Question Mo-1 is Compulsory. e
2) Aftempt any Three (03) Questions from remaining Five (05) Questions. \;\ "
3)  Assume suitable data where ever necessary. Oy
2. Mo, ey Wiaris.
Q.1 Attempt the following Questions(any4) G‘»
a) Toial Internnl Reflection at the outer edge of the core-cladding? L -
b) What do you mean by LP (Linearly Polarized) wave ,State diff'sm;ig between LP& g
circularly pelarized wive ? 'S
¢) Discuss basic block Diagram of Optical communication e 5
d) Explain the different types of losses in optical fiber mzmn{ui.ij_@iiﬁnn 5
¢) Compare Dark current &optical current in Semiconducton” 5
f) ‘What is Optical Transport network (OTN) N 5
Q.2{a) Explain Working of PIN photo dinde ,Advantages of ﬁP@@.ntn Guin, &Responsively of 8
diode : \:\ :
b 3 [
L2 s For GIF prove that M = EE;':ESaﬂk“n?ﬁ :‘g"j
Q.24c) Explain with neat sketch the two categories of ﬁ‘%t(éﬁd amplifiers .Discuss the possible souwrces 6
of noise in optical fiber Receiver A%
Q.3{a) Explain the different types of losses in optiealdilier communication ,Grive the various factors 8
responsible for optical signal attenuation &Lispersion
Q.3(h) Txplain dispersion losses in an optical ﬁh\ 7iHow transmission rate caleulated in dispersion &
0.3(c) Name five connectors used in opHedl) her communication, State the difference between 6
couplers and connectors ) % -
Q.da) Define the quantum efficiency aﬂdﬂipi'pﬂnsivit}r of photo detector, Derive an expression for the 8
responsivity of Infrinsic photo detector
0Q.4(b) Explain with block schematiciof optical fiber soliton rransmission system with optical seliton 6
pulses (icollision of two soliions (iFour stable solitons at safe separation distance.
Q.4H<¢) Difference between following term in confext with optical communication(i)Optical Source 6
&Optical Detector (i)Ciolerent and Non coherent optical ransmission
(3.5(a) Describe the strucb.n;dfslé‘d operation of OTIIR Explain loss measurement by OTDR 8
Q.5(0) Explain the ters {pibtocol and Internet protocol(IP)using OS] reference model discuss 6
implementation aspect of the (JSONET({)DWDM
Q.5(c) Explain with Mytiponents a typical WM link and some performance measurement parameter 6
of user intengti
Q.0 Write shornote onfanyd): 20

(a) Optitat Coupler and Application
(b)SNR& Modifications of SNR for photodiode
(c)@ptical gafety &Service Interface
Gptical Switches
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